
Answers – VOLUME 2: STRESSES, STRAINS, DISPLACEMENTS 
Chapter 5, Shear Forces and Shear Stresses Due to Bending problem 5.061, page 403 
 

Last update: 10-11-07 

Remarks: See §5.4.2, example 1, pages 322 till 335  
 
Answers:  
 
a.  (I) 25 N/mmτ =
b.  (II) 24 N/mmτ =
c.  (III) 21 N/mmτ =
 
Explanation:  
 

9 41,89 10  mmzzI = ×  
 
The shear stress distribution in the web is parabolic. 

a. 
3 6 3

(I) 2
9 4

(42 10  N)(3,375 10  mm ) 5 N/mm
(15 mm)(1,89 10  mm )

τ × ×
= =

×
 

b. 
3 6 3

(II) 2
9 4

(42 10  N)(2,7 10  mm ) 4 N/mm
(15 mm)(1,89 10  mm )

τ × ×
= =

×
 

 
The shear stress in the flange varies linearly. 

c. 
3 6 3

(III) 2
9 4

(42 10  N)(1,35 10  mm ) 1 N/mm
(30 mm)(1,89 10  mm )

τ × ×
= =

×
 

 


